SUMMATIVE ASSESSMENT -1 (2011)

Hopfora wer—I 470029
SCIENCE / fasm
Class — IX / ShaIT— IX
Time allowed: 3 hours Maximum Marks: 90
fFeiRa w9 : 3 "ve SfHTH 3F : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(i)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.
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(vi) 9T 3 @ U9 AT 4 9§ 7 B Y Q- bl b €| g9 SR T 30-30 Al H < T |

(vii) T 31 & U3 T 8 | 19 & U TIF—| 3Pl & B | I IR o THT 5050 Il H <A
g

(viii) 1T &1 & U AT 20 W 24 B YT UMA-UMT b B & | P SN ATHIT 70 &I H o § |

(ix) 9N 9 & Ued AT 25 H 42 & U YANHG DI WR ARG dgfddhedl Ie © | IAD
U U 3id BT & | Ry T IR RAaedl § 9 D! SHad Toh G99 STYTd [ddmed =1 2 |

Section A
1.  Name the phenomenon in which particles of two or more substances intermix on their own.

39 T[] 1 M SqET TSEH €1 a1 S 9 Ak qeref o ol Wd: W e S § |

Name the physical quantity which corresponds to rate of change of momentum ?

o Uflerds sl g0 o Hia Wifaes Tidr <1 7w fafaw)

3. Name the plastid which stores starch, oils and protein granules.

3 wifiee o1 W fafad < =, 7o 991 WeE sS4 yeref = wied s g

4.  Describe an activity to explain the process of separation of salt and ammonium chloride.

T FRamshay 1 faaRer Td g wused & fhg yer 79 iR sif1ay seiiise & g foran s
Teha1 & ?

5.  What happens to the gravitational force of attraction between two objects if :
(@) Mass of one of the objects is halved.

(b) Distance between the two objects is doubled.

< g & S o 9Tl TRcATRY T S ST T B, Al
(a) T oK i SoHHM ST L g S ?

(b) &Gl ok o= i GO SRTAT 2 < ST 2

6.  What are unicellular organisms ? List two examples of unicellular organisms.

ThRITITh STa 1 & 2 Tehahifereh STiall & o1 SeTeRvll s gt IRy |
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10.

11.

Differentiate between aerenchyma and chlorenchyma.

TLhRTZHT a1 FA-hEd § 37 fafem )

Give reasons :
(@) Steam produces more severe burns than boiling water.
(b) We are able to sip hot tea faster from a saucer rather than a cup.

(c) Water kept in an earthen pot becomes cool during summer.

HR T FHISY

(a) S GU STE Y STUT 919 I STe i gl Ao Teg™ et 2
(b) Y T U we § TF TH 91 Sedt o o €

(c) TIHA H =12 1 A ST & e ¥

(A) Distinguish between the properties of a solution and a suspension on the basis of
filtration and stability criteria.

(B) What is Tyndall effect ?

(A) 1= qen T o STeR 9L foerds a9 fefs o o0 sl g1 HifsT |

(B) fevea ywm wN¥?

Rajeev went from Delhi to Chandigarh on his motorbike. The odometer of the bike read

4200 km at the start of trip and 4460 km at the end of his trip. If Rajeev took 4 h 20

minutes to complete his trip, find the average speed in kmh-1 as well as in ms~1.

TSia fo@dt § ST ST Hictdses W T™T| 91 YE B 999 d5eh Fl STSMIe 4200 km J&R1
AN T SR AT FHIH W 4460 km TSI w0 B 1 AfE 39 a0 61 G0 A H U097 4 7= 20 e
foTe < aeeh ot 3Td =1 B kmh -1 3R ms-1 & 910 SIS |

a) State Newton’s third law of motion.

b) Why does a boat move backward, when a man jumps out of a boat to the bank of a river ?

(

(

(a) I I T 1 e Fm fafe |

(b) & ®iE Al T FRAN Tt fohet A9 & FRAN it @I Fodl § A1 A9 WS Y AR & St
g7
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12.

13.

14.

15.

16.

Explain why the value of ‘g’ changes from poles to equator on the surface of the earth. State

how would it’s value change on moving :
(@) towards the centre of the earth,

(b) away from the earth?

Ty HIfT fof gealt & I8 W yai 9 fayeq 99 # 3R 91 W ‘g’ & 79 § 9fed =i 8 S g2
3T hIfST foh geai h g8 4 -

(@) Y= & h S SH W

(b) T TWIN R ‘g & AF H fohy R iad= 2 € 2

a) State the Newton’s second law of motion.
b) Express Newton’s second law mathematically explaining the symbols used.

c) Define SI unit of force from this expression.

a) =T 1T 1 gHy T fated |
b) A & TIfd sk gE =9 K1 MU SR, SUFRT fohU T Yeiehl sl ST shid §U hifSH |
) SHRIK TR STk | &c1 <k SI A shl TR hiford |

o~ o~ o~ o~ o~ o~

Assuming that the mass of Earth is 100 times larger than the mass of Moon and the radius of
Earth is about 4 times as that of Moon. Show that the weight of an object on Moon is 1/6th of

that on Earth.

Ig AFd gU TR geall A1 S0 =SS o GIHM Wl 100 AT 997 qeat wi e == &t e &6
TN 4 T Ak B, I Ty TR fohe g b1 TrE W YR 9 el W R %1 1/6 THT BT €

Draw a labelled diagram of cardiac muscle found in human body. Write two differences

between striated and smooth muscles.

T o IR | U ST 1ol g5 IRl b1 Uk Amifehd fo AT | eiieR iR faent AR # < S

ddRU |

Name the tissue responsible for flexibility in plants. How would you differentiate it from other

permanent tissues ?

el | eTEeidd o foy STREE e o1 A fafau | s9eht o1 Tt Sdehi § faded oy fae g
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17.

18.

19.

20.

1 ?

Which two organelles of a cell contain their own genetic material ? What will happen if the
organisation of a cell is destroyed due to some physical or chemical influence.

3 UH st & A fafae i stomn sraifener aemef 8§11 afs fordt mifirenr o1 e fonst
fifqer o TEETS F91E & SR T 8 ST &, 1 1 8 2

What is pasturage and how is it related to honey production ? Name two varities of
honey bee.

TG 1 & T I8 0y Sueq ¥ fohd yohR Twaifverd § 7 Aymfai w6 91 fovadi & 9w fafes

What is mixed cropping ? Give its one example. How it helps the farmer ?

fafyd HcieRor 1 €7 ST U S0 fafEu | 9% Fuhi bl Ha FemEdT Ll € 2

(a) List in tabular form any three differences between a physical change and a

chemical change.
(b)  Identify the following as mixtures or compounds :

(i)  blood (i)  table salt (i)  sugar (iv)  brass
@)  ¥ifaew @ TEmftte uiadel § Rl @ =)l 6t gE SR
(b)  frfafaa 5 fagor qen dife F ve=m wIC

()  ERR(IE) (i) UEROAHSE (i) S (iv) e (9)

OR
(@) Write in tabular form any three differences between a compound and a mixture.

(b) Classify the following into physical or chemical change :

i) burning of a candle

ii) freezing of water

iii)  mixing of iron filings and sand

(
(
(
(iv)  fading of clothes.

@)  fago e difes § fRel 9 o)l & g SR

(b)  frAfafaa w1 «ifae wd TEmEfs 9fiedAl o e wifv
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() WSl ST

(i) W SR SEAT

(ili) G X a1 X 1 fafaa 3
(iv)  USl () Wl IR el

21. Define boiling point of a liquid. At what temperature in the Kelvin scale does water boil ?
Explain what happens when we supply heat energy to water till it changes its state. What is
this heat energy called ?

forel) ga & FaeAie 1 IR SRIfST | Shicer el W IMHT ford IshA W Seeral g 2 faero difsg
o STe1 h1 SHIE Fsll 24 T ST6l doh AT qRafdd 7 &1 | SH o1l okl ST B &7 I8 SO Ssll
FHERl &2

OR
(@) What is matter ?

(b) “The rate of diffusion of liquids is higher than that of solids.” Why ?
() Write two properties of gases and two properties of solids.
(d) Write the full form of :
(i) LPG (ii) CNG
@) T FE?
(b)  faERor &t ifa gai 7 31w eTden sifuk &1 i ?
() 19 qe1 9 IHI & S-]1 7T fatew |
(d) foreqa w0 W fafe

(i) T ot St )  H TS

22.  The speed-time graph of a ball of mass 30 g moving along a straight line is shown in the figure
below. Calculate the opposing force that brings the ball to rest.
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~
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t(s)—>

OR
State the law of conservation of momentum after obtaining an expression for it for 2 balls

moving at different velocities in the same direction along a straight line.

e &1 e e A @, T & fown o w el T o S @ ¥ QS e fag sHees uw ifse qen sqk
T HelTl o HaTul skl fm fafan |

23. The velocity time graph of a particle of mass 50 g moving in a definite direction is shown in the

following figure. Answer the questions based on this figure :

_ A A

2]

~ | 12

1

2

= 41

g

2 A2 9 s
Time (in sec)

(@) Whatis the velocity of the particle at point “A”.
(b) Find the momentum of the particle, at time t=4s.
(c)  What does the slope of graph represent ?

(d) Calculate the distance travelled in 4 seconds.
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50 g ZEAH 1 Teh vl S Tk Ffv=a foen & ifaa™ € S8em Tfa-90 I =i o # <91 7o €
T 3 I 3R 9 o IR g |

A

9 (in s)

@ fogARFURATRNT?

A 4

1 2 3 4

(b) TS HHA t=4 s BT A ol URehferd Hifsrg |

() U I TAIY (TEAM) T WM& 2

(d)  49%eH T8 H T g gRwfad i)
OR

Study the velocity - time graph of an ascending passenger lift in the figure shown below. What
is the acceleration of the lift :

A 4

time (s)
(@) During the first two seconds.

(b) between second and tenth second
() during the last two seconds.

(d) Which physical quantity is measured by area under the quadrilateral ABCD ?
Calculate it.

Teh AT forue o1 SW ot SR =ed g¢ a-THT Uh T AT St 99 3 g/ 9 T §
foTue =1 RUT T 2
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24.

(d)

464 . A

T (m/s)
e

A 4

(a)  U% I Hehe i STEiy H |
(b)  TE Y1 TES Hehs o W= H |
()  oifam <1 dehe i s@fa ||
T34 ABCD g 3R T &%l ¥ T fifaes Uf¥n 1 911 Sian 82 38 91 e |

Give the two types of food requirements of dairy animals.
Mention 2 forms of animal feed.

State the role of feed additives micronutrients that are added in the food of dairy

animals ?

ST IYIel o feTU €1 YRR i HISH i STaedehand, foife |
IY-3ARR & 7 ®9 fafen)
S YS! o AISH H AT STH 91l A159 g&H ekl bl yfifent fafaa |

OR
What is intercropping ?

How does intercropping give better returns to the farmers than the normal

method of cultivation ?

State any four losses due to biotic and abiotic factors during storage of grains.

S TR T § ?
iR fafy § Gt e Tt YR SRRl R i ST=St SUS Ff ear g ?

3751 YSRUT & SR Sifaeh 91 3ifaeh Sheh! o HRUT BN drell 9R i fafEy |
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Section B

25.  Chalk powder, common salt, oil and milk were added to water separately in four
beakers. On stirring the contents the suspension would be obtained in the beaker
containing

(@) chalk powder (b) commonsalt (c) oil (d) milk

IR SR H STeT TRt $TH STORT- 3T =1 UISey, HIHRY TH, del a9 58 fHeme w1 ikt
& Tagon =1 facifed = forem 39 s § ara & fsrad =ten @ o .

(a) TR REET (b) HERUTHER () dd d) T
26.  You are given following four mixtures. The mixture that appears clear and transparent
is:
(@) starch in water (b) sugar in water

(c) sand in water (d) chalk powder in powder

Ae! Frafafiad =) fago fag T 1 57 | s ol anee foamg 37 o fgor g
(@) S H wWHE (b) A H =T
) Sadw (d) < H =Tk q8el
27. Mohan heated a mixture of sulphur and iron filings in a china dish till a grey - black product
was formed. On adding carbon disulphide and stirring the contents he observed that :
(@) particles of sulphur dissolve
(b) particles of iron dissolve
() grey black product dissolves

(d) no change takes place

HIgd - HeHL 991 €18 a7 & THHo1 sl = feu § fER-ohrell 3418 s+ deh T forarn | 364 39 318
H e ergerre faamn S facred & 9vam Y& S | 98 e

(@)  TTH H B HTA I L |

(b) 3T % HUI A AW & |
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28.

29.

() I 3CUTE oA T S |

(d) i gfEd & gl

When an iron nail is immersed in copper sulphate solution, the solution turns :
(@) blue (b) green

() reddish brown (d) colourless

el Ueh <iiE ol Shicd bl hI Tothe o faora o erel i ® <1 faer=m o1 1 ufiafdd e 81 S € -
(@)  Hrem (b) B
(©) FAUSIN (d) VT

To determine the melting point of ice a student immersed the bulb of the thermometer in the

crushed ice in a beaker. He then heated the beaker on a low flame and observed that during

melting of ice the temperature :

(@) is increasing

(b) is decreasing

() first decreases and then continuously increases
(d) remains constant

Itk T eI FHiRa T o T Tk S 7 St H $2l g8 9 TR IUH IS & aed i &4
fean 1 sga TRt g SaTer W SRt Rl T hTT TR T 3TR Yaqo i WX I8 9 o o & 7o

YHY dMY
(@) TEWT
(b) TWT

() T8 =l § f e =g ©

d) FrEdwa?
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30. In the experiment on to determine the boiling point of water while fixing thermometer care is

taken that the bulb of the thermometer should :
(@) be dipped in water

(b) just touch the surface of water

() be in steam

(d) touch the pumice stone pieces placed at the bottom of the flask

ST % FUIh bl T et & TAN H STRTU | IuiHiel i had G99 98 GE9rT W@l St § R
THIET h I

@) SAHTAME

(b) T % T8 I HAH TR AL

© WuHW

(d)  TIRE B T H W AT TR F S hl T B

31.  The process used to separate ammonium chloride from a mixture of common salt, sand and

ammonium chloride is :

(a) Filteration (b)  Sublimation

(c) Distillation (d) Evaporation
ST FARTES 1 LR AV, 1] q1 STHIEH FAREe & g0 § gorgs o & fore wam gm
arett fafy &

(a) frE=a (b) T

(c) ST (d) T

32. Which of the following characteristic of iron sulphide and mixture of iron filings+sulphur

powder is correct ?

(@) Both are heterogeneous
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33.

(b) Both are homogeneous

(c) A mixture of iron filing and sulphur powder may be heterogeneous or homogeneous

but a iron sulphide is always homogeneous.

(d) Iron sulphide is heterogeneous but the mixture of iron filings and sulphur

powder is homogeneous.

SR TEHEE T TG T + TR TS o fagor o F= fau 7w 1 § wapor w2t 8

(@) <M foomit €

(b) I HEE )

()  TIE X + o TEe I fagor gait off g ekl © IR foammid «ff T ToRA TeFEe Hea
A B e

(d)  TERA SowEe foHi €, T Tie 1o + 9ot TI8el 1 g 9uih g ¢

When sodium sulphate solution is added to barium chloride solution barium sulphate is

formed. Itisa:

(@) physical change

(b) neither physical nor chemical change
() chemical change

(d) Both physical and chemical change

e Hifeqd Hethe faeem H dAfEy sirse facem e Sien § O SiE™ 9ethe o dT 21
(@) 9% T Hifges afed 2
(b) T Hifaes aferda o) 7 & TEmEfE e )

(€ I8 TH TUEfTHR giadd g1

d) 2 sdifgew gen TemfTes aiad |
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34, Out of sand, common salt and ammonium chloride the substance that dissolves in water is :
(@) sand only
(b) common salt only
(c) both sand and common salt

(d) both common salt and ammonium chloride

e, WL T9e TN ST FaREs | 9 S uere 91 o Joreii §, 98 € :
()  horeT ST

(b) he HTHROT THH

(c) ] T TR THH

(d) HIER T9E TL1 STHIIH FIAREE

35. A student soaked 1 g raisins in 7.5 mL of distilled water in two beakers A and B. He
maintained beaker A at 20°C and beaker B at 40°C. After an hour, the percentage of water

absorbed will be :
(@) Same in beaker A and B (b) more in A than in B
() moreinBthanin A (d) twice as much in Basin A

T foanefl 7 1 g fRafimT 7.5 mL &ga 9ia § < SRl A 3R B H i St A H1 38 20°0C
T T T 3R SR B &l 40°C W T 1 e o oI5 AN STeT ohi Fiawrd A= R -

() AR BH T&H ¥OH (b) AYBH sAfu=m
() BH AW 3feh (d  BH A9

36. A student was observing an onion peel stained with safranin under the microscope. The colour
of the cell wall appears :

(@) Deep blue (b) Black (c) Pinkish red (d) Yellow

T forneff A% ¥ ARG = & foow 1 gaael & 9 sEalid L @ 911 Y R
fuafa =1 41 foe < @

(a) &Y e (b) I () TS A (d) dren
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37.

38.

39.

The reagent used to test a food substance for the presence of starch is —
(@) iodine (b) methyl orange
() methylene blue (d) safranin

e} e uered © W i Suffd o TeTor & foe Suam fawen S arer sifyentes ® -
(@)  AEEH (b) A TS

)  Hfufed =g d) S

The acid used to test the presence of metanil yellow in pulse is —
(@) Hydrochloric acid (b) Nitric acid
() Sulphuric acid (d) Citric acid

T | Hefqar It 1 Suferfa o1 9dieror o & feu SUamT foran STH arel 377 © ¢
(a) BRSNS 37T (b)  TEfgw A

() YR 317 d) wEfew o

Human cheek cells stained in methylene blue and mounted in glycerine were
observed with the help of a compound microscope. The components of the cell which
would be seen are :

(@) cell wall, cytoplasm, nucleus

(b) plasma membrane, cytoplasm, nucleus

(c) plasma membrane, cytoplasm, nucleus, mitochondria

(d) plasma membrane, cytoplasm, nucleus, mitochondria, golgi bodies, lysosomes

Hefifer 09 9 AT RUl IR A1 A (stain) Fh FAERIA SR FeR 10 Wl
TR el gRI <& TR RIfereht § 3imes fome <

(a) RifereRT fafd, IfeRt 59, s

(b) ATSHT foieet, IR 53, ek
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40.

41.

42,

() TS e, iRt 54, sk, AIserehiied

(d) TSI T, ShIfThl 5o3, geh, HIgSIhiGdl, oSl shid, ARHHH

Which of the following tissue consists of relatively unspecialised living cells with thin cell
wall and inter cellular spaces.

(@) Parenchymatous tissue (b) Collenchymatous tissue

(c)  Sclerenchymatous tissue (d) Meristematic tissue

frafafad gl § 9 fogd uaet wifven fafa 9o rafies SR T gt dretd:
At Sfiferd wIRERT St 8 2

(a) UrenrEHl Sk (b)  ICTRISHI e

() TRITHIEH Sdh (d) HREH dw

A student was asked to identify the process which occurs when the raisins are soaked in water.
This process is :

(@) Osmosis (b) Plasmolysis
() Endocytosis (d) Diffusion

T foenedt =1 feufae o o= o e S 89 arett fovan 9g=me & faw e e, g fsen
B 7

Pick the odd one out of the following labellings on a diagram made after observing a slide :
(@) Cell body (b) Axon
(c) Light and Dark bands (d) Dendrites

frafafad 9 9 S5 A9 MR T T HifT S fRE] TR 1 YT HH & 93 ST
T 3G | Y A

(@) (b) et
(c) WeRIfeTeR qen 1 ufga @)
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